
1.	To understand individual 
differences in development it is 
important

	 (a)	 to look at the environmental 
factors that affect individuals.

	 (b)	 to consider maturation of the 
body and the brain.

	 (c)	 to consider both inherited 
characteristics as well as 
environmental factors and 
their interplay.

	 (d)	 to look at the inherited 
characteristics that give each 
person a special start in life.

2.	Which of the following is not a 
principle of development?

	 (a)	 Development is relatively 
orderly.

	 (b)	 Development takes place 
gradually over a period of 
time.

	 (c)	 Exact course and nature of 
development is determined at 
the time of birth itself.

	 (d)	 Individuals develop at different 
rates.

3.	Several research studies show 
that teachers have more overall 
interaction with boys than girls. 
What is the correct explanation 
for this?

	 (a)	 Boys need more attention than 
girls.

	 (b)	 This is an example of gender 
bias in teaching.

	 (c)	 Boys are easier to mange than 
girls in the classroom.

	 (d)	 Boys have much more academic 
capabilities than girls.

4.	Which of the following is central 
to the concept of progressive 
education?

	 (a)	 Belief in the capability and 
potential of every child

	 (b)	 Standard instruction and 
assessment 

	 (c)	 Extrinsic motivation and 
u n i f o r m  a s s e s s m e n t 
parameters

	 (d)	 Textbook centric learning
5.	What instructional adaptations 

should a teacher make while 
working with students who are 
'Visually Challenged'?

	 (a)	 Use a variety of  visual 
presentations.

	 (b)	 Orient herself so that the 
students can watch her closely.

	 (c)	 Focus on a variety of written 
tasks especially worksheets.

	 (d)	 Speak clearly and use a lot of 
touch and feel materials.

6.	Co-operative learning and peer 
tutorting _____ in an inclusive 
classroom.

	 (a)	 should be actively discouraged
	 (b)	 should be occasionally used
	 (c)	 should not be used
	 (d)	 should be actively promoted

7.	Which of the following is most 
important in an inclusive 
classroom?

	 (a)	 Standardized testing 
	 (b)	 P romot ing  compe t i t i ve 

learning

	 (c)	 Individualized education plan
	 (d)	 Uniform instruction

8.	Which of the following is a correctly 
matched pair of learners and their 
primary characteristics?

	 (a)	 'Dyslexic' learners – Lack 
reading and writing fluency

	 (b)	 C r e a t i v e  l e a r n e r s  – 
H y p e r a c t i v e ;  s l o w  i n 
completing work

	 (c)	 Attention deficit learners – 
High motivation; can sustain 
attention for long periods of 
time.

	 (d)	 Hearing impaired learners – 
Cannot comprehend visual 
information

9.	The ability to come up with 
original and divergent solutions 
to a problem is a primary 
characteristic of

	 (a)	 Impaired children
	 (b)	 Creative children
	 (c)	 Chi ldren  wi th  lea rn ing 

disability
	 (d)	 Egocentric children

10.	Which of the following would not 
be consistent with a constructivist 
environment?

	 (a)	 Students work collaboratively 
and are given support to engage 
in task-oriented dialogue with 
each other.

	 (b)	 Teachers elicit  students' 
ideas and experiences in 
relationship  to key topics 
and plant teaching-learning to 
elaborate or restructure their 
current knowledge.
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	 (c)	 Teachers employ specific 
end of the term assessment 
strategies and give feedback on 
products rather than processes.

	 (d)	 Students are given frequent 
opportunities to engage in 
complex, meaningful, problem- 
based activities.

11.	A teacher should encourage 
students to set _____ rather than 
_____.

	 (a)	 perfromance goals; learning 
goals

	 (b)	 failure avoiding goals; marks 
seeking goals

	 (c)	 marks seeking goals; failure 
avoiding goals

	 (d)	 learning goals; performance 
goals

12.	Which of the following does not 
result in meaningful facilitation of 
learning?

	 (a)	 Promoting repetition and recall
	 (b)	 Use of examples and non-

examples
	 (c)	 Encouraging multiple ways of 

looking at a problem
	 (d)	 Connecting new knowledge to 

pre-existing knowledge
13.	Which of these is an example of 

extrinsic motivation?
	 (a)	 “I learn so much when I do my 

homework.”
	 (b)	 “Doing homework makes 

me understand my concepts 
better.”

	 (c)	 “I Complete my homework 
because the teacher gives us 
marks for each assignment.”

	 (d)	 “I enjoy doing my homework 
because it is so much fun.”

14.	In a primary classroom a teacher 
should 

	 (a)	 give only non-examples
	 (b)	 give both examples and non-

examples
	 (c)	 not give any examples and 

non- examples
	 (d)	 give only examples

15.	Which of the following strategies 
would promote meaning-making 
in children?

	 (a)	 Transmission of information
	 (b)	 Using punitive measures
	 (c)	 Uniform and standardized 

testing
	 (d)	 Exploration and discussion

16.	Which of the following are 
examples for effective learning 
strategles?

	 (i)	 Setting goals and time tables
	 (ii)	 Making organizational 

charts and concept maps
	 (iii)	 Thinking of examples and 

non-examples
	 (iv)	 Self-questioning

(a) (i) (iv) (v)
(b) (i) (ii) (iii) (v)
(c) (i) (ii) (iii) (iv) (v)
(d) (i) (ii) (iii)

17.	In the constructivist frame child 
is viewed as

	 (a)	 ‘tabula rasa’ or ‘blank slate’ 
whose life is shaped entirely 
by experience.

	 (b)	 a ‘passive being’ who can be 
shaped and molded into any 
form through conditioning.

	 (c)	 a ‘problem solver’ and a 
‘scientific investigator’.

	 (d)	 ‘miniature adult’ who is less than 
adult in all aspects such as size, 
cognition, emotions.

18.	A teacher’s role while using co-
operative leaning in her class –

	 (a)	 is to leave the class and let 
children work on their own.

	 (b)	 is to support and monitor each 
group.

	 (c)	 is to support the group which 
has the ‘bright’ and ‘talented’ 
children.

	 (d)	 is to be a silent spectator and let 
children do what they want.

19.	Children’s errors and mis-
conceptions–

	 (a)	 are a hindrance and obstacle to 
the teaching-leaning process.

	 (b)	 should be ignored in the 
teaching-learning process.

	 (c)	 s ign i fy  tha t  ch i ld ren ’s 
capabilities are far inferior 
than that of adults.

	 (d)	 are a significant step in the 
teaching-learning process.

20.	According to Piaget, specific 
p s y c h o l o g i c a l  s t r u c t u re s 
(organized ways of making sense 
of experience) are called

	 (a)	 schemes
	 (b)	 images
	 (c)	 mental maps
	 (d)	 mental tools

21.	“With an appropriate question/
suggestion, the child’s uderstanding 
can be extended far beyond the 
point which she could have reached 
alone.” Which construct does the 
above statement highlight?

	 (a)	 Equilibration
	 (b)	 Conservation
	 (c)	 Intelligence
	 (d)	 Zone of proximal development 

22.	According to Lev Vygotsky, basic 
mental capacities are transformed 
into higher cognitive processes 
primarily through 

	 (a)	 social interaction
	 (b)	 stimulus-response association
	 (c)	 adaptation and organization
	 (d)	 rewards and punishment 

23.	Which of the following statements 
denotes the relationship between 
development and learning 
correctly?

	 (a)	 L e a r n i n g  t a k e s  p l a c e 
irrespective of development.

	 (b)	 Rate of learning far exceeds 
the rate of the development.

	 (c)	 Development and learning 
are inter-related and inter-
dependent.

	 (d)	 Development and learning are 
not related.

24.	One of the major accomplishments 
of concrete operational stage is 

	 (a)	 Ability to conserve
	 (b)	 H y p o t h e t i c - d e d u c t i v e 

reasoning
	 (c)	 Secondary circular reactions
	 (d)	 Animistic thinking

25.	Constructivists such as Jean Piaget 
and Lev Vygotsky view learning as

	 (a)	 conditioning of responses
	 (b)	 passive repetitive process
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	 (c)	 process of meaning-making by 
active engagement 

	 (d)	 acquisition of skills
26.	Selecting and presenting stories 

and clippings from newspaper that 
portray both men and women in 
non-traditional roles is an effective  
strategy to

	 (a)	 promote gender constancy
	 (b)	 encourage stereotypical gender 

roles
	 (c)	 counter gender stereotypes
	 (d)	 promote gender bias

27.	Read the following description 
and identify the stage of moral 
reasoning of Kohlberg.

	D escription:
	 Right action is defined by self-

chosen ethical principles of 
conscience that are valid for all 
humanity, regardless of law and 
social agreement.

	 (a)	 T h e  s o c i a l  –  c o n t r a c t 
orientation

	 (b)	 The social – order maintaining 
orientation

	 (c)	 The universal ethical principle

	 (d)	 The instrumental purpose 
orientation

28.	As per Howard Gardner’s theory 
of multiple intelligence, how would 
the intelligence of a person with 
the following characteristics be 
categorized?

	 Characteristics:
	 “Ability to detect and respond 

appropriately to the moods, 
temperaments, motivations and, 
intentions of others.”

	 (a)	 Intrapersonal
	 (b)	 Interpersonal
	 (c)	 Therapeutic
	 (d)	 Naturalistic

29.	Which of the following should 
be the reasons for assessment of 
children?

	 (i)	 To separate and label children 
into ‘non-achievers,’ ‘low-
achievers,’ ‘average’ and 
‘high-achievers.’

	 (ii)	 To  improve  teach ing-
learning processes in the 
classroom.

	 (iii)	 To find out what changes 
and progress in learning that 
takes place in the child over 
a period of time.

	 (iv)	 To discuss the capabilities, 
potential, strengths and 
challenging areas of the child 
with the parents.

(a) (i) (ii) (iii)
(b) (ii) (iii) (iv)
(c) (ii) (iv)
(d) (i) (ii) (iii) (iv)

30.	Which of the following play 
an important role in a child’s 
socialization?

	 (i)	 Media
	 (ii)	 School
	 (iii)	 Family
	 (iv)	N eighbourhood

(a) (ii) (iii)
(b) (i) (iii) (iv)
(c) (i) (ii) (iii) (iv)
(d) (iii) (i)

Part-II : Mathematics and Science

31.	The total surface area of a cuboid 
is 194 m2. If its length is 8 m and 
breadth is 6 m, then what is its 
volume (in m2)?

	 (a)	 126	 (b)	 168
	 (c)	 224	 (d)	 112

32.	The area of a trapezium is 105 
cm2 and its height is 7 cm. If one 
of the parallel sides is longer than 
the other by 6 cm, then the length 
of the longer side, in cm, is

	 (a)	 16 	 (b)	 15
	 (c)	 12	 (d)	 18

33.	The curved surface area of a right 
circular cylinder of base radius 
3 cm is 94.2 cm2. The volume (in 
cm3) of the cylinder is (Take π 
= 3.14)

	 (a)	 141.3	 (b)	 125.6
	 (c)	 113.04	 (d)	 138.6

34.	if x is added to each of 14, 12, 34 
and 30, the numbers so obtained, 
in this order, are in proportion. 
What is the value of 12 + 9x ?

	 (a)	 9	 (b)	 11
	 (c)	 13	 (d)	 8

35.	Which one of the following 
statements is true?

	 (a)	 A regular polygon of 10 sides 
has 10 lines of symmetry.	

	 (b)	 A circle  has  no l ine of 
symmetry.

	 (c)	 An angle has two lines of 
symmetry.

	 (d)	 A regular hexagon has only 4 
lines of symmetry.

36.	The value of x which satisfies the 
equation

	 10 (x + 6) + 8 (x – 3) = 5 (5x – 4)
	 also satisfies the equation

	 (a)	 3 (3x – 5) = 2x +1 
	 (b)	 2 (x + 3) = 5 (x – 5) + 4
	 (c)	 5 (x – 5) = 2 (x – 3) + 5	
	 (d)	 5 (x – 3) = x + 5

37.	What should be subtracted from 
5y – 13r – 8a to obtain 11x – 16y 
+ 7a?

	 (a)	 21y – 5x –a
	 (b)	 21y – 24x – 15a
	 (c)	 24x– 21y + a	
	 (d)	 6x + 21y + 15a

38.	Which of the following statements 
is correct regarding children 
coming to school from rural areas 
in the context of Mathematics?

	 (a)	 They may have rich oral 
mathematical traditions and 
knowledge.

	 (b)	 They do  not  know any 
mathematics.
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	 (c)	 They have poor communication 
skills in mathematics.

	 (d)	 They need not learn formal 
mathematics as it is of no use 
to them.

39.	Read the following statments:
	 A.	 Axioms are propositions which 

are assumed.	
	 B.	 Axioms are special theorems.
	 C.	 Axioms are definitions.	
	 D.	 Axioms, when proved becomes 

theorems.
	 Which of the following statement(s) 

is correct?
	 (a)	 A and D	 (b)	 Only B
	 (c)	 Only A	 (d)	 A and C

40.	Which of the following statements 
does not reflect contemporary 
view of students errors in 
mathematics?

	 (a)	 They are a part of learning.
	 (b)	 They are a rich source of 

information.
	 (c)	 They can guide the teacher in 

planning her classes.	
	 (d)	 They should be overlooked.

41.	Which of the following Statement(s) 
regarding Mathematics is true?

	 A.	 Mathematics is a tool.
	 B.	 Mathematics is a form of art.
	 C.	 Mathematics is a language.
	 (a)	 B & C	 (b)	 Only A
	 (c)	 A, B & C	 (d)	 A & B

42.	To prove that 2  is an irrational 
number, a teacher begins by 
assuming that it is a rational 
number and then proceeds to 
show how this assumption is not 
feasible. This is an example of 
proof by

	 (a)	 Deduction	
	 (b)	 Contradiction
	 (c)	 Verification	
	 (d)	 Induction

43.	Which of the following statements 
reflects a desirable assessment 
practice in the context of 
mathematics learning?

	 (a)	 Holding conversations and one 
to one discussion with children 

can also be helpful in assessing 
them.	

	 (b)	 Assessment should be product 
oriented and focus on the right 
answer of the child.

	 (c)	 Incorrect answers of children 
should largely be ignored 
because we need to focus on 
children’s strenghts.	

	 (d)	 Only paper-pencil tasks are 
suited to assess students 
because they require precise 
answers.

44.		Which of the following statements 
is true of learning mathematics?

	 (a)	 Girls need extra attention 
becuase they are weaker in 
mathematics.

	 (b)	 Mathematics is a specialized 
subject meant for a select few.

	 (c)	 Informal algorithms are inferior 
to formal mathematics.

	 (d)	 Eveyone can learn and succeed 
in mathematics.

45.	The  ro le  o f  proport iona l 
reasoning in understanding the 
concept related to ratio and 
proportion was highlighted by

	 (a)	 Zoltan Dienes	
	 (b)	 Jean Piaget
	 (c)	 Lev Vygotsky
	 (d)	 Van Hiele

46.	A student is not able to solve those 
word problems which involve 
transposition in algebra. The best 
remedial strategy is to

	 (a)	 give lot of practise question 
of word problems in another 
language.

	 (b)	 explain him/her word problem 
in simple language.

	 (c)	 explain concept of equality 
using alternate method.	

	 (d)	 give lot of practise question on 
transposition of numbers.

47.	Contemporary understanding 
of  Mathematics  Pedagogy 
encourages teachers to do all of 
the following, except:

	 (a)	 Introduce compuation of 
problems before development 
of conceptual understanding.

	 (b)	 Create opportunities for 
students to guess-and-verify 
the solutions to problems.

	 (c)	 Develop the skill of systematic 
reasoning in students.

	 (d)	 Encourage the ability to 
approximae solutions.

48.	The value of 
	 [( – 4 ) ÷ 2 ] × ( – 3 ) – ( – 3 ) [ ( – 3 ) × 

( – 7 ) – 8 ] + (4) [(– 48 ) + 6 ]
	 is
	 (a)	 – 11	 (b)	 13
	 (c)	 – 16	 (d)	 9

49.	The fractions 44
49

,
33
38

,
22
25

 and 
24
29

are written in descending order 

as

	 (a)	
22
25

24
29

33
38

44
49

, , , 	

	 (b)	
44
49

22
25
33
38

24
29

, , ,

	 (c)	
44
49

33
38

24
29

22
25

, , , 	

	 (d)	
24
29

33
38

22
25

44
49

, , ,

50.	Which one of the following 
statements is  not true for 
integers?

	 (a)	 Division is commutative.	
	 (b)	 1 is the multiplicative identity.
	 (c)	 Subtraction is not commutative.
	 (d)	 Multiplication is associative.

51.	If x = 23 ×32 × 53 × 73

	 y = 22 × 33 × 54 × 73, and 
	 z = 24 × 34 × 52 × 75,
	 The H. C. F. of x, y and z is
	 (a)	 (15)3 × 74	 (b)	 (30)3 × 73

	 (c)	 30 × 75	 (d)	 (30)2 × 73

52.	If 52272 = p2 × q3 ×r4,
	 where p, q and r are prime 

numbers, then the value of (2p + 
q – r) is 

	 (a)	 22	 (b)	 23
	 (c)	 29	 (d)	 21

53.	If the 7-digit number 134x58y is 
divisible by 72, then the value of  
(2x + y) is

	 (a)	 7	 (b)	 8
	 (c)	 9	 (d)	 6
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54.	Which of the following is not a 
Pythagorean triplet?

	 (a)	 8, 15, 17	 (b)	 11, 60, 63
	 (c)	 13, 84, 85	 (d)	 7, 24, 25

55.	The measure of an angle for which 
the measure of the supplement is 
four times the measure of the 
complement is

	 (a)	 45º	 (b)	 60º
	 (c)	 75º	 (d)	 30º

56.	If the angles, in degrees, of a 
triangle are x, 3x + 20 and 6x, the 
triangle must be

	 (a)	 Acute	 (b)	 Right
	 (c)	 Isosceles	 (d)	 Obtuse

57.	In triangles ABC and DEF, ∠C = 
∠F, AC = DF, and BC = EF. If AB 
= 2x –1 and DE = 5x – 4, then the 
value of x is

	 (a)	 2	 (b)	 3
	 (c)	 4	 (d)	 1

58.	One side of a triangle is 5 cm 
and the other side is 10 cm and 
its perimeter is P cm, where P 
is an integer. The least and the 
greatest possible values of P are 
respectively

	 (a)	 20 and 28	 (b)	 21 and 29
	 (c)	 22 and 27	 (d)	 19 and 29

59.	Let x be the median of the data 
13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 
14, 15, 16, 15, 14.

	 If 8 is replaced by 18, then the 
median of the data is y. What is 
the sum of the values of x and 
y?

	 (a)	 28	 (b)	 29
	 (c)	 30	 (d)	 27

60.	A bag contains 3 white, 2 blue and 
5 red balls. One ball is drawn at 
random from the bag. What is the 
probability that the ball drawn 
is not red?

	 (a)	
3
10

	 (b)	
1
5

	 (c)	 1
2

	 (d)	
4
5

Directions: Answer the following 
questions by selecting the correct/most 
appropriate options.

61.	Which of the following nutrients 
are present in millk?

	 (a)	 Protein, Vitamin C, Vitamin A
	 (b)	 Carbohydrates, Vitamin C, Iron
	 (c)	 Protein, Iron, Vitamin D	
	 (d)	 Protein, Calcium, Vitamin D

62.	The non-metal used in the purple 
colured solution applied on 
wounds as antiseptic is

	 (a)	 Iodine	 (b)	 Bromine
	 (c)	 Sulphur	 (d)	 Chlorine

63.	Which of the following statements 
regarding ‘Air’ is incorrect?

	 (a)	 Air is not present in soil.	
	 (b)	 Air plays important role in 

water cycle.
	 (c)	 Air occupies space.	
	 (d)	 Air has weight.

64.	Which of the following represents 
correct matching of the organs 
of digestive system in Column A 
with the function in Column B?

	 Column A		  Column B
	 a.	 Liver	 i.	 where protein
					    digestion starts
	 b.	 Stomach	 ii.	 w h e r e  b i l e 

juice		  is stored
	 c.	 Gall	 iii.	 releases
		  bladder		  digestive juice
					    into small
				   	 intestine
	 d.	 Pancreas	 iv.	 largest gland
		  a	 b	 c	 d
	 (a)	 iv	 i	 ii	 iii
	 (b)	 i	 iii	 ii	 iv
	 (c)	 iii	 iv	 ii	 i
	 (d)	 i	 ii	 iv	 iii

65.	Which of the following statement 
about cells is true?

	 (a)	 Cells of a tissue have similar 
structure.	

	 (b)	 Size of cells is same in a well 
organized organism.

	 (c)		 All the cells have nucleus.
	 (d)	 All cells are round in shape.

66.	Which of the following are 
correctly matched with their mode 
of reproduction?

	  	A		    B
	 a.	 Yeast	 i.	 vegetative
					    propagation
	 b.	 Potato	 ii.	 spore formation
	 c.	 Algae	 iii.	 fragmentation
	 d.	 Fungi	 iv.	 budding
		  a	 b	 c	 d
	 (a)	 i	 iii	 ii	 iv
	 (b)	 ii	 iv	 iii	 i
	 (c)	 iii	 ii	 iv	 i
	 (d)	 iv	 i	 iii	 ii

67.	Which of the following pollutants 
are responsible for depletion of 
ozone layer?

	 (a)	 Chlorofluoro carbons
	 (b)	 Acid rain
	 (c)	 Methane and carbon dioxide
	 (d)	 Carbon dioxide and carbon 

monoxide
68.		Which of the following set 

represents  communicab le 
disease?

	 (a)	 Typhoid, Malaria, Anaemia, 
Swine flu

	 (b)	 Typhoid, Swine flu, Malaria, 
Polio

	 (c)	 Diabetes, Typhoid, Malaria, 
Anaemia

	 (d)	 Anaemia, Scurvy, Diarrhoea, 
Cholera

69.		Which one of the following is not 
true of the nature of science?

	 A.	 Science is always tentative.
	 B.	 Science promotes scepticism.
	 C.	 Science is  a  process of 

constructing knowledge.
	 D.	 Science is static in nature.
	 (a)	 B	 (b)	 C
	 (c)	 A	 (d)	 D

70.	Which of the following is/are 
developed by Science?

	 A.	 Equity	
	 B.	 Scientific attitude
	 C.	 Scientific temper	
	 D.	 Static mind set
	 (a)	 B, C and D	
	 (b)	 A, B and C
	 (c)	 C and D	
	 (d)	 A and D

71.	The role of a science teacher 
should be to _________
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	 (a)	 provide product based teaching 
learning environment to 
learners.

 	 (b)	 guide learners to practice the 
memorization of the creative 
ideas.

	 (c)	 encourage all learners to frame 
questions of high congitive 
abilities.

	 (d)	 provide rich variety of learning 
experiences to learners.

72.		As per NCF-2005, good science 
education should be

	 A.	 True to the learner	
	 B.	 True to the environment of the 

learner
	 C.	 True to the teacher	
	 D.	 True to science
	 (a)	 B and C only 
	 (b)	 A, B and C
	 (c)	 D only	
	 (d)	 A, B and D

73.		“Conducting a survey on the 
awareness of people about 
sources of air pollution in learners 
localities.”

	 Which of the following cognitive 
process will be most associated 
with the above learning objec-
tive having action verb conduct-
ing?

	 (a)	 Understanding
	 (b)	 Creating
	 (c)	 Applying
	 (d)	 Remembering

74.	Which of the following strategy 
can be the most appropriate for 
involving learners in the teaching 
learning of science?

	 (a)	 Clarifying the hard spots of 
learners	

	 (b)	 Working on engaging the 
learners first

	 (c)	 Encouranging learners to do 
group assesment

	 (d)	 Reading a science book	
75.	By which of the following strategy 

meaningful clarification on the 
concept of reflection of light can 
be given?

	 (a)	 Chart showing the reflection of 
light.	

	 (b)	 Observing reflection of light 
on white paper screen by 
the learners and drawing 
conclusions.

	 (c)	 Asking closed ended questions 
related to the concept.	

	 (d)	 Animated  v ideo  on  the 
concept.	

76.	Why are field visits important in 
science?

	 (a)	 It is easy to conduct.	
	 (b)	 It collects the information of 

science.
	 (c)	 It develops habit of hardwork 

among learners.
	 (d)	 I t  p r o v i d e s  h a n d s  o n 

experiences to the learners.
77.	Which of the following tool is for 

learner centered assessment?
	 A.	 Portfolio	
	 B.	 Concept mapping
	 C.	 Paper-pencil test	
	 D.	 Journal writing
	 (a)	 A, B and D	
	 (b)	 A and C only
	 (c)	 B, C and D	
	 (d)	 C only

78.		Assessment as learning in Science 
means_______.

	 (a)	 Summative assessment
	 (b)	 Self assessment
	 (c)	 Term assessment
	 (d)	 Formative assessment

79.	Amrita is trying to set-up an 
electric circuit. She runs short of 
connecting wires. Which of the 
following materials can she use 
to complete the circuit?

	 (a)	 steel wire	
	 (b)	 glass rod
	 (c)	 rubber pipe
	 (d)	 thick thread

80.	Identify the correct statement.
	 (a)	 A concave mirror forms an 

erect as well as inverted image.
	 (b)	 A convex mirror always forms 

an inverted image.
	 (c)	 A convex mirror forms erect as 

well as inverted image.
	 (d)	 A concave mirror always forms 

an erect image.		
81.	Which of the following acids is 

found in ant's sting?

	 (a)	 Formic acid
	 (b)	 Oxalic acid
	 (c)	 Acetic acid	
	 (d)	 Ascorbic acid	

82.	3.7 kg of a fuel is completely burnt 
to give off 1.665 × 108 joules of 
energy. The calorific value of the 
fuel in standard unit is

	 (a)	 22222	 (b)	 61605
	 (c)	 25000	 (d)	 45000	

83.	Myra cycles to a friend’s house 5 
km away to deliver a packet. She 
goes at a speed of 12 km/hour and 
returns at a speed of 8 km/h. Her 
average speed during the whole 
trip is –

	 (a)	 9.6 km/h	 (b)	 10 km/h
	 (c)	 5 m/s	 (d)	 20 km/h

84.	Which of the following sets 
contains only the units  of 
measuring distance?

	 (a)	 cubit, year, light year
	 (b)	 cubit, metre, light year
	 (c)	 metre, hertz, cubit
	 (d)	 metre, light year, hertz

85.		Sameer rolls his marble on three 
different surfaces spread out 
on floor-taut cellophane sheet, 
carpet and newspaper. The force 
of friction acting on the marble 
in the increasing order is

	 (a)	 Newspaper, Carpet, Cellophane 
sheet

	 (b)	 Cellophane sheet, Newspaper, 
Carpet

	 (c)	 Cellophane sheet, Carpet, 
Newspaper

	 (d)	 Newspaper, Cellophane sheet, 
Carpet

86.	An object is moving linearly 
with a uniform velocity. If time 
is represented along X-axis then 
which of the following statements 
is correct?

	 (a)	 The velocity-time graph of the 
motion will be a straight line 
parallel to Y-axis.

	 (b)	 The distance-time graph of the 
motion will be a straight line 
parallel to Y-axis.
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	 (c)	 The velocity-time graph of the 
motion will be a straight line 
parallel to X-axis.

	 (d)	 The distance-time graph of the 
motion will be a straight line 
parallel to X-axis.

87.		Which of the following is not a 
byproduct of petroleum?

	 (a)	 Coke
	 (b)	 Bitumen
	 (c)	 Lubricating oil
	 (d)	 Praffin wax

88.	Aman keeps a plastic bottle, a 
wooden spoon and a metallic 

spoon in a closed room overnight. 
The room temperature is 30 ºC. 
In the morning he records the 
temperatures of the three objects 
as T1, T2 and T3. Which of the 
follwoing most likely represents 
the relation between them?

	 (a)	 T3 > T2 > T1	
	 (b)	 T1 = T2 < T3
	 (c)	 T1 > T2 > T3	
	 (d)	 T1 = T2 = T3

89.	Which of the following organisms 
can prepare their own food by 
Photosynthesis?

	 (a)	 Fungi	 (b)	 Rhizobium
	 (c)	 Virus	 (d)	 Algae

90.	Which of the following features 
help polar bears adapt in extreme 
cold conditions?

	 (a)	 white fur, logn curved sharp 
claws, fat under skin	

	 (b)	 white fur, flat feet, layers of fur
	 (c)	 strong smell, flat feet, layers fo 

fur
	 (d)	 white fur, flat feet, fat under 

skin

Part-III : Language-I (English)
Directions (Q. No. 91 to 98) : Read 
the passage given below and answer 
the questions that follow by choosing 
the correct/most appropriate options:
	 	 The other day I received an unusual 
and very gratifying gift: I was given 
a tree. Or rather, I was given half-a-
dozen trees, which would be planted on 
my behalf. I had been invited to give 
a talk to an organisation. After such 
events, the speaker is usually given a 
token gift. Sometimes the gift is that of 
a pen, or something useful. Often, the 
gift is in the form of a plaque or similar 
commemorative token. However well-
meant, such gifts are destined to gather 
dust in forgotten corners. Which is why 
I was agreeably surprised to be given a 
scroll which attested that, in a designated 
plantation established for the purpose, 
six trees would be added in my name, 
as part of ‘green’ movement being 
sponsored by the organization.
		  In an increasingly environmentally-
conscious world, the gift of a living tree 
or plant makes for a perfect present. 
The tradition of giving and receiving 
gifts has increasingly become a highly 
evolved marketing erecise. Apart from 
festivals like Diwali, Holi, Christmas, 
Eid and others, a whole new calendar 

of celebratory events has been created 
to promote the giving of gifts: Mother’s 
Day, Father’s Day, Teacher’s Day, 
Valentine’s Day and so on and on.
		  What do you give to people - 
friends, relatives, spouses, children, 
parents, employees, clients, well-wishers 
who have more or less everything, or at 
least everything that you could afford 
to give them as a gift? Another shirt 
or kurta? Another bottle of Scent or 
aftershave? Another box of chocolates ? 
Another any other?     
	91.	 Why do you not very much care 

for it when you receive a shirt or 
a kurta as a gift?

		  (a)	 You already have so many of 
them

	 	(b)	 You don’t like the colour
		  (c)	 You were not asked about your 

choice
	 	(d)	 The giver had to spend a lot of 

money 
	92.	 The word ‘gratifying’ means
		  (a)	 satisfying	 (b)	 giving
		  (c)	 fortifying	 (d)	 annoying
	93.	 The word ‘destined’ means :
		  (a)	 decided	 (b)	 declined
		  (c)	 departed	 (d)	 fated
	94.	N ame the part of speech of the 

underlined word in the following 
clause.

		  which is why I was agreeably 
surprised.

		  (a)	 Adjective	 (b)	 Pronoun
		  (c)	 Adverb	 (d)	 Preposition
	95.	 Identify the part of the following 

sentence which has an error in it.
		  (a)	 Your claim ought
		  (b)	 to succed in that case
		  (c)	 the damages
		  (d)	 will be substantial
		  (a)	 (b)	 (b)	 (c)
		  (c)	 (d)	 (d)	 (a)
	96.	 The writer was thrilled when he 

was given: 
		  (a)	 six trees
	 	(b)	 a plaque
		  (c)	 a pen
	 	(d)	 a tree
	97.	 What usually happens to the gifts 

he/she receives?
		  (a)	 He gives them away as gifts to 

others
		  (b)	 They are put away and forgotten
		  (c)	 He keeps them religiously as 

mementoes	
		  (d)	 He uses them if he needs them
	98.	 The gift received by the writer 

was :
		  (a)	 environment friendly
	 	(b)	 very expensive
		  (c)	 gathering dust in a corner	
		  (d)	 a marketing exercise
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Directions (99 to 105) : Read the 
passage given below and answer the 
questions by selecting the correct/most 
appropriate options :
		  With more than 3,000 languages 
currently spoken, English undoubtedly 
is amongst the richest of all languages. 
The Oxford English Dictionary lists 
about half a million words of which 
only 2,00,000 are frequently used. This 
is because, the balance 3,00,000 words 
are technical and not found in ordinary 
dictionaries. The only language that can 
come near English is Chinese.
		  Apart from being the richest 
language, English also boasts of 
being one of the most widely spoken, 
second only to Mandarin Chinese. This 
remarkable achievement is only because 
of the one thing that we all love to do— 
copy ! ‘Slesta’ for example is of Spanish 
origin. ‘Sputnik’ as you must be aware 
of, has a Russian origin. ‘Restaurant’ is 
from France and ‘Super’ from Germany. 
Even before the birth of the ‘genius’ of 
‘drama’, William Shakespeare, the words 
‘genius’ and ‘drama’ were adapted from 
Greek. Now, you must be wondering if 
English has anything original about it. 
Well, find it out ! Did you ever try to find 
out how many different words of English 
we use in our daily life? Try to guess and 
then read on. A modern novelist has a 
vocabulary of anywhere between ten to 
fifteen thousand words.
		  William Shakespeare used thirty 
thousand words and the only writer to 
come close to him was James Joyce 
in ‘Ulysses’. We normally have a 
vocabulary of about ten thousand words 
of which only five thousand are used in 
everyday conversation. This leads to a 
limited variety of words. This is because 
we repeat a lot of words. In conversation 
and in writing, it is ‘the’. (Try counting 
it in this article and you will have proof 
of it.) 

	99.	H ow many words are usually used 
by an English speaking person?

		  (a)	 5,000	 (b)	 10,000
		  (c)	 15,000	 (d)	 3,000
	100.	Which of the following words 

is most often used in English 
language?

		  (a)	 the	 (b)	 is
		  (c)	 one	 (d)	 a
	101.	The word that is similar in meaning 

to the word, ‘remarkable’ is :
		  (a)	 remedial	 (b)	 remaining
		  (c)	 optional	 (d)	 astonishing
	102.	The word that is opposite in 

meaning to the word, ‘ordinary’ 
is :

		  (a)	 complex	 (b)	 special
		  (c)	 liable	 (d)	 usual
	103.	Which part of speech is the 

underlined word in the following 
sentence?

		D  id you ever try to find out ?
		  (a)	 Adjective	 (b)	 Pronoun
		  (c)	 Verb	 (d)	 Adverb
	104.	English is the most widely used 

language in the world because :
		  (a)	 it is the richest language	
		  (b)	 it has taken words from other 

languages
		  (c)	 it has half a million words in it
	 	(d)	 Shakespeare has written in 

English
	105.	In our everyday conversation we 

use a limited number of words 
because :

		  (a)	� we are not a genius like 
Shakespeare

	 	(b)	� everybody is not highly 
educated

		  (c)	 we repeat a lot of words
	 	(d)	 our vocabulary is unlimited
Directions (Q. No. 106 to 120) : Answer 
the following questions by selecting 
the most appropriate options.
	106.	A teacher gives a puzzle to her 

class-VIII students and asks them 
to solve it by speaking out how 

they solve it. What is this strategy 
known as?

		  (a)	 Think aloud protocol
	 	(b)	 Listening
		  (c)	 Picture reading
		  (d)	 Speaking aloud
	107.	Sanskrit in India today is a :
		  (a)	 Modern Indian language and a 

classical language
		  (b)	 Religious language
		  (c)	 Hindu language
	 	(d)	 Modern Indian language
	108.	A teacher of Class-VII  asked her 

students to read a short story and 
come to the class. She asks them 
to discuss the major points of the 
story in groups and present them 
to the whole class. What is this 
reading known as?

		  (a)	 Reading with a purpose
		  (b)	 Reading for thinking
		  (c)	 Extensive reading
	 	(d)	 Intensive reading
	109.	English does not find its place as 

a ______.
		  (a)	 second language in the school 

curriculum
	 	(b)	 third language in the school 

curriculum	
		  (c)	 medium of instruction
	 	(d)	 first language in the school 

curriculum
	110.	Bottom-up processing in listening 

is to:
		  (a)	 decode the overall messages of 

the discourse and move down 
the micro level units

	 	(b)	 encode all the sounds from 
speaker to listener

		  (c)	 use multiple ways to decode 
the messages

	 	(d)	 decode messages moving from 
sounds to words, phrases, 
clauses and other grammatical 
elements to sentences

	111.	 What is the following strategy 
known as in reading?
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		  The text is read mer slowly and 
in detail to get the gist or overall 
sense of the text.

		  (a)	 Summarising
	 	(b)	 Skimming
		  (c)	 Scaffolding
	 	(d)	 Scanning
	112.	A teacher asks her learners of 

class-VII to refer to the textbook 
of History and find a theme which 
can be connected with English 
language text for writing an essay.

		  What is this practice known as?
		  (a)	 Language across the curriculum
	 	(b)	 Language in learning
		  (c)	 L a n g u a g e  a n d  h i s t o r y 

integrated learning
	 	(d)	 Language and Social Science 

learning
	113.	Multilingualism as a resource 

means :
		  (a)	 using the languages of learners 

as a strategy in school
	 	(b)	 teaching many languages
		  (c)	 promoting of  languages 

through content learning
	 	(d)	 learning many languages in 

school
	114.	Match the types of writing with 

their corresponding category :
		  (A)	 Personal	 (i)	L etter of 
			   writing		  complaint
		  (B)	 Study	 (ii)	Diary
			   writing 		  writing

		  (C)	 Creative	 (iii)	Synopsis
			   writing		  writing
		  (D)	 Public	 (iv)	Travelogue
			   writing
			   a	b	c	   d
		  (a)	 (ii)	 (iii)	 (iv)	 (i)
		  (b)	 (iii)	 (ii)	 (i)	 (iv)
		  (c)	 (iv)	 (iii)	 (ii)	 (i)
	 	(d)	 (i)	 (ii)	 (iii)	 (iv)
	115.	A teacher divides her class into 

groups of five and allocates 
different themes to the groups. 
The groups have to collect 
information on the themes and 
write reports to be presented to 
the class. What is this activity 
known as?

		  (a)	 Project work
	 	(b)	 Writing work
		  (c)	 Research
	 	(d)	 Assignment
	116.	Process approach to writing 

involves:
		  (a)	 Brainstorming, writing the first 

draft and final writing
	 	(b)	 Outlining, revising and writing 

the final draft
		  (c)	 Writing the first draft, revising 

and developing the final draft
	 	(d)	 Brainstorming, outlining, 

drafting revising, proof-
reading and drafting the final 
writing

	117.	Continuous Asessment focuses  
on :

		  (a)	 Informal assessment
	 	(b)	 Informal and a combination of 

both formative and summative
		  (c)	 Outcome and achievement 

based assessment
	 	(d)	 Formal assessment
	118.	‘Pre-reading’ activity in class is 

to :
		  (a)	 connect learners’ with one 

another
	 	(b)	 enable learners to know about 

the story which they would 
read ahead

		  (c)	 all of these
	 	(d)	 connect learner’s previous 

knowledge with what she 
learns in the reading text

	119.	Pedagogical Grammar is :
		  (a)	 grammar for teachers
	 	(b)	 grammar in context to connect 

grammar points with real life 
context

		  (c)	 grammar with formal rules to 
be applied while writing

	 	(d)	 grammar of pedagogy
	120.	What are these words known  

as ?
		  – the, of, and, a, to, that, it, with, 

but, they, she, he 
		  (a)	 Form words	
		  (b)	 Use words
		  (c)	 Unimportant words	
		  (d)	 Sight words

Hkkx  IV :  Hkk"kk-II (fgUnh)
funsZ'k (iz'u la[;k 121 ls 129 rd) % 
uhps fn, x, x|ka'k dks i<+dj iwNs x, 
iz'uksa ds lcls mi;qDr mÙkj okys fodYi 
dks pqfu, %
	 	vkt f'k{kd dh Hkwfedk mins'kd ;k 
Kkunkrk dh&lh ugha jghA og rks ek=k ,d izsjd gS 
fd f'k{kkFkhZ Lo;a lh[k ldsaA muds fd'kksj ekul 
dks è;ku esa j[kdj f'k{kd dks vius f'k{k.k dk;Z 

ds nkSjku vè;;u&vè;kiu dh ijEijkxr fofèk;ksa 
ls nks dne vkxs tkuk iM+sxk] rkfd f'k{kkFkhZ 
ledkyhu ;FkkFkZ vkSj fnu&izfrfnu cnyrs thou 
dh pqqukSfr;ksa ds chp ekuo&ewY;ksa ds izfr vfMx 
vkLFkk cuk, j[kus dh izsj.kk xzg.k dj ldasA 
ikBxr ckèkkvksa dks nwj djrs gq, fo|kfFkZ;ksa dh 
lgHkkfxrk dks lgh fn'kk iznku djus dk dk;Z 
f'k{kd gh dj ldrk gSA

	 	Hkk"kk f'k{k.k dh dksbZ ,d fofèk ugha gks 
ldrhA tSls eè;dkyhu dfork esa vyadkj] 
Nanfoèkku] rqd vkfn ds izfr vkxzg Fkk] fdUrq 
vkt y; vkSj izokg dk egÙo gSA dfork i<+krs 
le; dfo dh ;qx psruk ds izfr ltxrk le>uk 
vko';d gSA fucUèk esa ys[kd ds n`f"Vdks.k 
vkSj Hkk"kk&'kSyh dk egÙo gS vkSj f'k{kkFkhZ dks 
vFkZxzg.k dh ;ksX;rk dk fodkl t:jh gSA dgkuh 
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ds Hkhrj cquh vusd dgkfu;ksa dks igpkuus vkSj 
mu lw=kksa dks iYyfor djus dk vH;kl f'k{kkFkhZ 
dh dYiuk vkSj vfHkO;fDr dkS'ky dks c<+kus ds 
fy, mi;ksxh gks ldrk gSA dHkh&dHkh dgkuh dk 
ukVd esa foèkk ifjorZu dj mldk eapu fd;k 
tk ldrk gSA

	 	ewY;kadu oLrqr% lh[kus dh gh ,d iz.kkyh 
gS] ,slh iz.kkyh tks jVar iz.kkyh ls eqfDr fnyk 
ldsA ijEijkxr lk¡ps dk vuqikyu u djs] 
viuk <k¡pk fufeZr dj ldsA blfy, ;g xk¡B 
ck¡èk ysuk vko';d gS fd Hkk"kk vkSj lkfgR; 
ds iz'u c¡èks&c¡èkk, mÙkjksa rd lhfer ugha gks 
ldrsA f'k{kd iwoZfuèkkZfjr mÙkj dh vis{kk ugha 
dj ldrkA fo|kfFkZ;ksa ds mÙkj lk¡ps ls gVdj] 
fdUrq rdZ laxr gks ldrs gSa vkSj lgh HkhA bl 
[kqysiu dh pqukSrh dks Lohdkjuk vko';d gSA

	121.	ewY;kadu ds ckjs esa lR; ugha gSµ
		  (a)	 bldk fuf'pr <k¡pk gksrk gS

	 	(b)	 mÙkj igys ls fuèkkZfjr ugha gksrs

		  (c)	 ;g lh[kus dh gh ,d fofèk gS

	 	(d)	 jVar dk var djrk gS

	122.	lekl dh ǹf"V ls dkSu&lk in 'ks"k ls fHkUu  
gS\

		  (a)	 Hkk"kk&f'k{k.k	 (b)	vFkZ&xzg.k

		  (c)	 ;qx&psruk	 (d)	 fnu&izfrfnu
	123.	^fo|kFkhZ* ds fy, vuqPNsn esa iz;qDr 

vU; i;kZ;okph 'kCn gSaµ
		  (a)	 f'k{kkFkhZ] Nk=k

	 	(b)	 lgHkkxh] ijh{kkFkhZ

		  (c)	 fd'kksj] ekul

	 	(d)	 vè;kid] vè;srk

	124.	^lgHkkfxrk* 'kCn dk fuekZ.k fdl 
milxZ vkSj izR;; ls gqvk gS\ 

		  (a)	 lg] rk	 (b)	l] brk
		  (c)	 lg] brk	 (d)	l] rk
	125.	vuqPNsn esa iz;qDr ̂ ledkyhu* 'kCn dk 

lcls mi;qDr vFkZ gksxkµ
		  (a)	 vkdfLed	 (b)	lelkef;d
		  (c)	 orZeku	 (d)	vkèkqfud	
	126.	dkSu&lk dFku vkt ds f'k{kd dh 

Hkwfedk ds ckjs esa lR; ugha gS\
		  (a)	 ijEijkxr f'k{k.k fofèk;ksa dks NksM+k 

ugha tk ldrk

	 	(b)	 f'k{kd fo|kfFkZ;ks a dh lgHkkfxrk 
lqfuf'pr djrk gS

		  (c)	 ekuo ewY;ksa ij mldh vkLFkk vfMx 
gksrh gS	

		  (d)	 f'k{kd izsjd gS] Kkunkrk ugha
	127.	f'k{kd ls fdl izdkj dh ckèkk,¡ nwj 

djus dh vis{kk dh xbZ gS\
		  (a)	 ikB&izLrqfr ls lEcfUèkr	
		  (b)	 ikB ds Hkhrj ls mHkjus okyh
		  (c)	 ikB~;Øe ls tqM+h gqbZ
		  (d)	 ikB i<+krs gq, vkus okyh
	128.	vkèkqfud dfork esa egÙoiw.kZ gSµ
		  (a)	 Hkk"kk vkSj 'kSyh	
		  (b)	 ekuohdj.k vkSj fcacfoèkku
		  (c)	 y; vkSj izokg
	 	(d)	 Nan vkSj vyadkj
	129.	dgkuh ds }kjk ys[ku fo|kfFkZ;ksa esa 

dYiuk'khyrk vkSj vfHkO;fDr dh 
dq'kyrk c<+kus ds fy, egRoiw.kZ 
xfrfofèk gks ldrh gSµ 

		  (a)	 dgkuh dk foèkk&ifjorZu
	 	(b)	 fufgr dFkklw=kksa dk iYyou
		  (c)	 dgkuh dks ekSf[kd lqukus dk vH;kl
	 	(d)	 dgkuh dk okpu
funsZ'k (iz'u la[;k 130 ls 135 rd) % 
fuEufyf[kr dkO;ka'k dks i<+dj iwNs x, 
iz'uksa  ds mÙkj nhft,µ
	 	vkdk'k dk lkiQk ck¡èkdj 
	 	lwjt dh fpye [khaprk
	 	cSBk gS igkM+
	 	?kqVuksa ij iM+h gS unh pknj&lh
	 	ikl gh ngd jgh gS
	 	iyk'k ds taxy dh v¡xhBh
	 	vaèkdkj nwj iwoZ esa
	 	fleVk cSBk gS HksM+ksa ds xYys&lk
	 	vpkud cksyk eksj
	 	tSls fdlh us vkokt nhµ
	 	^vth lqurs gksA*
	 	fpye vkSaèkh
	 	èkq¡vk mBk
	 	lwjt Mwck
	 	v¡èksjk Nk x;kA 
	130.	vaèkdkj ds fleVdj cSBs gksus dk dkj.k 

gSµ
		  (a)	 fdlku vkx lsad jgk gS
	 	(b)	 vHkh lw;kZLr ugha gqvk
		  (c)	 LFkku dk vHkko gS
	 	(d)	 vHkh lw;ksZn; ugha gqvk

	131.	vpkud rqjr&iQqjr ?kVuk,¡ gksus dk 
dkj.k gSµ

		  (a)	 lwjt dk Mwcuk	
		  (b)	 v¡èksjk Nk tkuk
		  (c)	 HksM+ksa dk fc[kj tkuk
	 	(d)	 ^lqurs gks* dh vkokt
	132.	^^fleVk cSBk gS HksM+ksa ds xYys&lk**&fdl 

fodYi es a lHkh 'kCn ^xYyk* ds 
lekukFkhZ gSa \

		  (a)	 xYyk] lkSnk] eky] xksnke
	 	(b)	 jsoM+] >q.M] HkhM+] jsyk
		  (c)	 HkhM+HkkM+] jsyeisy] HkxnM+] >qjeqV	

(d)	 lewg] HkhM+] n'kZd] >q.M
	133.	dfork esa nks lekukFkhZ 'kCn gSa %
	 	1.	 vaèkdkj
		 2.	 v¡èksjk
		 bu nksuksa ds ckjs esa dkSu&lk dFku lR; 

gS\
		  (a)	 nksuksa rn~Hko gSa	 (b)	 igyk rn~Hko gS
		  (c)	 nwljk rn~Hko gS	 (d)	 nksuksa rRle gSa
	134.	'kke dk ltho fp=k.k djus ds fy, fdl 

:id dks vuqi;qDr ekuk tk ldrk gS\
		  (a)	 vkdk'k dk lkiQk
	 	(b)	 eksj dh vkokt
		  (c)	 taxy dh v¡xhBh
	 	(d)	 lwjt dh fpye
	135.	iyk'k ou dks v¡xhBh dgk x;k gS] 

D;ksafdµ
		  (a)	 taxy esa vkx yxh gksrh gS
	 	(b)	 iyk'k dh ydM+h tykus ds dke 

vkrh gS 
		  (c)	 f[kys iyk'k ds ou vkx ds leku 

fn[krs gSa
	 	(d)	 iyk'k xzh"e ½rq esa iQwyrk gS
	136.	mPp izkFkfed Lrj ij cPpks a ds 

Hkk"kk&fodkl ds fy, t:jh gS fd 
_______ le`f¼ dk Hkk"kk] ______ o 
vU; fo"k;xr f'k{k.k ;qfDr esa mi;ksx 
fd;k tk,A

		  (a)	 dykRed] lkfgR;
	 	(b)	 Hkkf"kd] lkfgR;
		  (c)	 ifjos'k] Hkkf"kd 
	 	(d)	 lkfgR;] dyk
	137.	^mPp izkFkfed Lrj dh fgUnh Hkk"kk dh 

ikB~;&iqLrdksa esa fgUnhrj Hkk"kk dks Hkh 
txg feyuh pkfg,A*µbl dFku dk 
vkSfpR; ugha gSµ 
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		  (a)	 fgUnhrj Hkk"kk ds lkfgR; ls ifjfpr 
djkuk

	 	(b)	 fgUnhrj Hkk"kkvksa dh jpukµ'kSfy;ksa ls 
ifjfpr djkuk

		  (c)	 fgUnhrj Hkk"kkvks s a ds ekè;e ls 
laosnukvksa dks foLrkj nsuk

	 	(d)	 fgUnhrj Hkkf"k;ksa ds vkØks'k dks 'kkUr 
djuk

138.	fo|kfFkZ;ksa dh i<+us esa #fp txkus ,oa 
Hkk"kk&Kku esa òf¼ ds fy, ikB~;&iqLrd 
ds vfrfjDr ______A

		  (a)	 ikB~;p;kZ lgxkeh fØ;kvks a dk 
vfèkdkfèkd vk;kstu fd;k tkuk 
pkfg,

	 	(b)	 lekpkj&i=k] iksLVj dk fuekZ.k 
djok;k tkuk pkfg,

		  (c)	 iBu lkexzh fodflr dh tk ldrh 
gS

		  (d)	 'k Sf{kd Hk ze.k dk vfèkdkfèkd 
vk;kstu fd;k tkuk pkfg,

	139.	mPp izkFkfed Lrj ij cPpksa ds Hkk"kk;h 
vkdyu dh n`f"V ls lcls egÙoiw.kZ 
iz'u gSµ

		  (a)	 olar ½rq esa uhydaB ds fy, tkyh?kj 
esa can jguk vlguh; D;ksa gks tkrk 
Fkk \

		  (b)	 ysf[kdk dks uhydaB dh dkSu&dkSu&lh 
ps"Vk,¡ cgqr Hkkrh Fkha\

		  (c)	 uhydaB dh u`R;&Hkafxdk dks vius 
'kCn&fp=k esa izLrqr dhft,A

	 	(d)	 eksj&eksjuh ds uke fdl vkèkkj ij 
j[ks x, gSa\

	140.	Hkk"kk vftZr djus ds lUnHkZ esa ______ 
lokZfèkd egÙoiw.kZ gSA

		  (a)	 le`¼ Hkk"kk&ifjos'k
	 	(b)	 lapkj ekè;eksa dk vfèkd iz;ksx
		  (c)	 fo|ky;h ijh{kk&izfØ;k
	 	(d)	 Hkkf"kd iBu&lkexzh

	141.	cgqHkkf"kd d{kk esa cPpksa dh Hkk"kkvksa 
dks LFkku nsus ds fy, vko';d gS fdµ

		  (a)	 f'k{kd cPpksa dks mudh Hkk"kkvksa esa 
gh O;ogkj djus ds fy, dgs

	 	(b)	 f'k{kd cPpksa ds ekr`Hkk"kk&iz;ksx dks 
Lohdkj djs

		  (c)	 f'k{kd cPpksa dh ekr` Hkk"kkvksa esa 
xhr&dfork lqus

	 	(d)	 f'k{kd cPPkksa dh Hkk"kkvksa dk gh iz;ksx 
djs

	142.	vkBoha d{kk esa i<+us okyh :chuk 
fy[kus esa csgn dfBukbZ dk vuqHko 
djrh gSA lEHko gS fd og ______ ls 
xzflr gksA

		  (a)	 fMLysfDl;k	 (b)	 fMLxzkfiQ;k
		  (c)	 Hkkok?kkr	 (d)	 fMLdsydqfy;k
	143.	fgUnh Hkk"kk ds fofoèk :iksa ls ifjfpr 

djkus esa ______ lokZfèkd lgk;d gSA
		  (a)	 fgUnh Hkk"kk dk lkfgR; o vU; eqfær 

lkexzh	
		  (b)	 fgUnh Hkk"kk dh iqLrd o foKkiu
		  (c)	 fgUnh Hkk"kk dh if=kdk] o ikB~; 

iqLRkd
		  (d)	 fgUnh Hkk"kk ds lekpkj&i=k o foKkiu
	144.	Hkk"kk lh[kus vkSj Hkk"kk vftZr djus esa 

eq[; vUrj dk vkèkkj ugha gSµ
		  (a)	 LokHkkfodrk	 (b)	lgtrk
		  (c)	 O;kdj.k	 (d)	 Hkk"kkbZ ifjos'k
	145.	^L=kh dks lkSUn;Z dk izfreku cuk fn;k 

tkuk gh mldk caèku cu tkrk gSA*µbl 
fo"k; ij d{kk esa ppkZ dhft,A Hkk"kk 
dh ikB~;&iqLrd esa bl iz'u dks LFkku 
nsus dk D;k vkSfpR; gS \  

		  (a)	 L=kh&cUèku dh ppkZ djuk
	 	(b)	 lkSUn;Z izlkèkuksa dk fojksèk djuk
		  (c)	 Hkk"kk dks L=kh foe'kZ ls tksM+uk
	 	(d)	 lkSUn;Z&izfreku cukuk
	146.	^ikB esa fBfB;kdj g¡lus yxh* tSlk 

okD; vk;k gSA fBfB;kuk 'kCn esa ̂ vkuk* 

izR;; dk iz;ksx gqvk gSA ̂ vkuk* izR;; ls 
cuus okys pkj lkFkZd 'kCn fyf[k,A*µ 
bl iz'u dk Lo:i _____ dks iksf"kr 
djrk gSA

		  (a)	 lw=k 'kSyh; O;kdj.k
	 	(b)	 lUnHkZ esa O;kdj.k
		  (c)	 ikB~;&iqLrdh; O;kdj.k
	 	(d)	 izR;; dk leLr Kku
	147.	mPp izkFkfed Lrj ij _____ ifjfpr 

djkus dh izfØ;k ij cy fn;k tkrk 
gSA 

		  (a)	 ys[ku izfØ;k ls	
		  (b)	 vyadkj o NUn ls
		  (c)	 lkfgfR;d foèkkvksa ls
	 	(d)	 iBu izfØ;k ls
	148.	mPp izkFkfed Lrj ij O;kdj.k fl[kkus 

dh fdl fofèk dks vki lokZfèkd 
egÙoiw.kZ ,oa mi;ksxh ikrs gSa\

		  (a)	 fuxeu fofèk	
		  (b)	 ikB~;&iqLrdh; fofèk
		  (c)	 vuqokn fofèk	
		  (d)	 vkxeu fofèk
	149.	mPp izkFkfed Lrj ij Hkk"kk f'k{k.k dk 

mís'; ugha gSµ
		  (a)	 Hkk"kk ds O;kdjf.kd fcUnqvksa dh 

ifjHkk"kkvksa dks tkuuk
	 	(b)	 Hkk"kk dh ckjhdh vkSj lkSUn;Z cksèk dks 

le>us dh {kerk dk fodkl
		  (c)	 fofHkUUk lkfgfR;d foèkkvksa dh le> 

dk fodkl
	 	(d)	 futh vuqHkoksa ds vkèkkj ij Hkk"kk dk 

l`tu'khy iz;ksx
	150.	^Hkk"kk dh fu;ec¼ izÑfr dks igpkuuk 

vkSj mldk fo'ys"k.k djukA*µmPp 
izkFkfed Lrj ij Hkk"kk f'k{k.k dk 
_______

		  (a)	 mís'; ugha gS	
	 	(b)	 ,dek=k mís'; gS
		  (c)	 eq[; mís'; gS	
	 	(d)	 mís'; gS

Answers and explanations

1.  (c )  Ind iv idua l  d i ffe rences 
in personality temperament can be 
observed from the day the child is born. 
Besides the differences in physical 
characteristics there are differences in 

‘their emotional reactivity. Thomas and 
Chess (1970) found in their extensive 
study that reliable individual differences 
could be observed shortly after birth in 
such characteristics as activity level, 

attention span, adaptability to changes 
in the environment, and general mood. 
One infant might be characteristically 
active, easily distracted, and willing to 
accept new objects and people, another 
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might be predominantly quiet, persistent 
in concentrating on an activity.

Biological inheritance is determined 
by the chromosomes and genes. You all 
have studied that females have twenty-
three pairs of chromosomes. Males 
have twenty-two pairs plus two singles 
represented as X Y, the X and Y are 
called sex chromosomes because our sex 
depends upon XX or XY combinations. 
Sets of chromosomes from different 
persons, of the same sex look very 
much alike but actually they differ a lot 
internally. These differences are most 
pronounced in unrelated individuals.

The environmental influences are 
those which act upon the organism, 
at the earlier stages of development 
within mother’s womb and later external 
environment which operates from the 
time of birth. The nucleus, chromosomes 
and genes are surrounded by a jelly 
like substance known as cytoplasm. 
The cytoplasm, is an intracellular 
environment,  because the genes 
surrounded by it are influenced by and 
in turn influence its characteristics. The 
outcome of the organism is determined 
by cytoplasm as well as its heredity. 
A new internal environment comes 
into existence, after the interaction of 
genes and cytoplasm has produced 
several cells. The actual structure of a 
cell depends upon its relation to other 
cells. Development in specific location 
determines the part of the body.

2. (c) Development implies overall 
changes in shape, form or structure. 
Development is a continuous and life 
long process. It starts with the birth of 
the child and ends with the death of 
the individual. Development describes 
the changes in the organism as a whole 
and does not list the changes in parts.  
According to Arnold Gessel, “Growth is 
the function of the organism rather than 
of the environment. The environment 
furnishes the soil and the surroundings for 
manifestation of development, but these 
manifestations come from inherent inner 
organism and an intrinsic physiology 
of development. Growth is a process 

so intricate and so sensitive that there 
must be powerful stabilizing factors, 
intrinsic balance of the total pattern 
and direction of the growth trend”. 
There are three principles of growth 
and development: the  ephalocaudal 
principle, the proximodistal principle, 
and the orthogenetic principle. These 
predictable patterns of growth and 
development allow us to predict how 
and when most children will develop 
certain characteristics.

3. (b)
4. (a) Progressive education is a 

pedagogical movement that began 
in the late nineteenth century; it has 
persisted in various forms to the present. 
The term progressive was engaged to 
distinguish this education from the 
traditional Euro-American curricula of 
the 19th century, which was rooted in 
classical preparation for the university 
and strongly differentiated by social 
class. By contrast, progressive education 
finds its roots in present experience. Most 
progressive education programs have 
these qualities in common:
	 •	 Emphasis on learning by doing – 

hands-on projects, expeditionary 
learning, experiential learning

	 •	 Integrated curriculum focused on 
thematic units

	 •	 Integration of entrepreneurship into 
education

	 •	 Strong emphasis on problem solving 
and critical thinking

	 •	 Group work and development of 
social skills

	 •	 Understanding and action as the 
goals of learning as opposed to rote 
knowledge

	 •	 Collaborative and cooperative 
learning projects

	 •	 Education for social responsibility 
and democracy

	 •	 Highly personalized learning 
accounting for each individual's 
personal goals

	 •	 Integration of community service 
and service learning projects into 
the daily curriculum

	 •	 Selection of subject content by 
looking forward to ask what skills 
will be needed in future society

	 •	 De-emphasis on textbooks in favor 
of varied learning resources

	 •	 Emphasis on lifelong learning and 
social skills

	 •	 Assessment by evaluation of child's 
projects and productions

5. (d) Some of the strategies for 
handling learners with visual impairment 
in the classroom. The strategies include:  
Using large writing on the chalk board 
or visual aids
	 •	 Using large writing on the chalk 

board or visual aids. The use of 
coloured chalks is recommended. 
Let the children come close to the 
board or teaching aids so that they 
can see more easily.

	 •	 Read aloud what is written on the 
chalk board.

	 •	 Prepare teaching aids that learners 
can read more easily such as large 
print materials. Other learners in 
the class could help prepare these or 
they can be produced by enlarging 
font sizes on computer printout. This 
can also help learners who have 
difficulties in reading.

	 •	 Learners may have difficulties 
seeing the lines on writing papers. 
They can be given papers with 
thicker lines drawn on it.

	 •	 Some learners will benefit from 
using magnifying aids. Two types 
are available. Ones that enlarge 
the whole page or line magnifiers, 
which are a useful aid to reading

	 •	 Encourage the learners to use a 
pointer or their finger when reading. 
Cover the rest of the page with paper 
except for the paragraph they are 
reading. Use a book stand to avoid 
reflection

	 •	 Children with poor vision need 
to learn through touch as well as 
through hearing. They should be 
given a chance to handle objects.

	 •	 Computers offer particular support 
to learners with visual impairment. 
They can print out a large print copy, 
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read text on the screen using the text 
on a voice synthesizer or convert it 
in to Braille

6. (d) Cooperative learning  and peer 
tutoring should  be actively  promoted  
in an inclusive classroom. Cooperative 
learning methods help in achieving 
those complex abilities which cannot 
be achieved by individualistic and 
competitive methods. Cooperative 
learning as an instructional approach is 
based on positive task interdependence 
and reward interdependence. In this 
approach students work in a group and 
as a group. The Jigsaw method, Team-
games Tournament method, Problem 
Solving method, Group Investigation 
method and Project method have been 
found to be promising and appropriate 
for teaching primary classes. These 
methods can be used to teach curricular 
subjects and also to develop interpersonal 
skills/behaviors. Teacher can select 
appropriate cooperative learning method 
and learning situations depending on 
the nature of the subject and topic to be 
taught.

7.  (c)
8. (a) Dyslexia — Dyslexia has 

been around for a long time and has 
been defined in different ways. For 
example, in 1968, the World Federation 
of Neurologists defined dyslexia as 
“a disorder in children who, despite 
conventional classroom experience, fail 
to attain the language skills of reading, 
writing, and spelling commensurate with 
their intellectual abilities.” Dyslexia 
is not due to mental retardation, brain 
damage, or a lack of intelligence. It is 
caused by an impairment in the brain’s 
ability to translate images received from 
the eyes or ears into understandable 
language. The severity of dyslexia can 
vary from mild to severe. It is found more 
often in boys than in girls. The sooner 
dyslexia is treated, the more favorable 
the outcome; however, it is never too 
late for people with dyslexia to learn to 
improve their language skills (Schulte-
Körne, Warnke, & Remschmidt, 2006).

9. (b)  The  ability  to come up  with 
original  and divergent  solutions  to a 
problem  is a primary  characteristics 

of  creative children.  This is the ability 
to produce new ideas by bringing 
together elements usually thought of 
as independent or dissimilar and the 
aptitude for developing new meanings 
that have social value. Characteristics 
of creative and productive children's 
openness to experience, setting personal 
standards for evaluation, ability to play 
with ideas, willingness to take risks, 
preference for complexity, tolerance 
for ambiguity, positive self-image and 
the ability to become submerged in a 
task. Creative and productive children 
are identified through the use of tests, 
such as the Torrance Test of Creative 
Thinking or through demonstrated 
creative performance.

10. (c)  11. (d)  12. (a)
13. (c) Extrinsic motivation refers 

to behavior that is driven by external 
rewards such as money, fame, grades, 
and praise. This type of motivation 
arises from outside the individual, as 
opposed to intrinsic motivation, which 
originates inside of the individual.

14. (b)  15. (d) 16. (c) 17. (c)
18. (b)  19. (d)
20. (a) Schema theory is a branch of 

cognitive science concerned with how 
the brain structures knowledge. A schema 
is an organized unit of knowledge for a 
subject or event. It is based on past 
experience and is accessed to guide 
current understanding or action.

Schemas are dynamic – 
	 •	 They develop and change based on 

new information and experiences 
and there by support the notion of 
plasticity in development. 

	 •	 Schemas guide how we interpret 
new information and may be quite 
powerful in their influence (see work 
of Brewer and Treyens below).  

	 •	 Schemas, or schemata, store both 
declarative (“what”) and procedural 
(“how”) information.

21. (d)
22. (d) Social interaction plays a 

fundamental role in the process of 
cognitive development. In contrast to 
Jean Piaget’s understanding of child 
development (in which development 

necessarily precedes learning), Vygotsky 
felt social learning precedes development. 
He states: “Every function in the child’s 
cultural development appears twice: 
first, on the social level, and later, on the 
individual level; first, between people 
(inter psychological) and then inside the 
child (intra psychological)”

23. (c)  24. (a) 25. (c) 26. (c)
27. (c)  28. (b) 29. (b) 30. (c)
31. (b) Total surface area of cuboid
		  =	 2 (lb + bh + hl)
According to  questions.
	 2 (lb + bh + hl)	 =	 194

⇒	(lb + bh + hl)	 =	
194

97
2

=

⇒	 (8 × 6 + 6 × h + h × 8)  = 97

⇒	 48 + 14h	 =	 97
⇒	 14h	 =	 (97 – 48)

⇒	 14h	 =	 49

⇒	 h	 =	 49 7
= metres

14 2

\	 Volume of cuboid	 = lbh

= 	 7
cubic metres8 6

2
 × ×  

= 168 m3

32. (d) Let the parallel sides of 
trapezium be x cm and (x + 6) cm

A x lseh-

( + 6)x lseh-

7 lseh-

M

x cm

7 cm

A

M
(x + 6) cm

Area of the trapezium

= 
1

2
(Sum of parallel sides) × Height

= 
1

(AD BC) AM
2

+ ×

1
105 ( 6) 7

2
= + + ×x x

⇒  105 × 2 =	 (2x + 6) × 7
⇒  210 =	  14x + 42
⇒  14x =  (210 – 42) = 168
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⇒  
168

12
14

= =

So, the length of the longer side
= (12 + 6) cm = 18 cm
33. (a) Curved surface area of the 

cylinder = 2prh
⇒  2 × 3.14 × 3 × h = 94.2
⇒  18.84 × h  = 94.2

⇒  94.2
5 cm

18.84
= =

\  Volume of the cylinder
= pr2h
= 3.14 × (3)2 × 5 cm3

= 141.3 cm3

34. (a) According to question,
(14 + x) : (12 + x) :: (34 + x) : (30 + x)
⇒  Product of the middle terms
= Product of the outer terms
⇒  (12 + x) (34 + x) 
= (14 + x ) × (30 + x)
⇒  420 + 30x + 14x + x2

= 408 + 12x + 34x + x2

⇒  420 + 44x = 408 + 46x
⇒  (46x – 44x) = 420 – 408
⇒  2x = 12

⇒  12
6

2
= =x

\ Value of 12 9 12 6 9+ = × +x

72 9 81 9= + = =

35. (a) A regular polygon of 10 sides 
has 10 lines of symmetry.

36. (c) 10(x + 6) + 8 (x – 3)
= 5(5x – 4)
⇒  10x + 60 + 8x – 24 = 25x – 20
⇒  18x + 36 = 25x – 20
⇒  25x – 18x = 36 + 20
⇒  7x = 56

⇒  56
8

7
= =x

From option (c), 5(x – 5) = 2(x – 3) + 5
⇒ 5x – 25 = 2x – 6 + 5
⇒ 5 × 8 – 25 = 2 × 8 – 6 + 5
⇒ 40 – 15 = 16 – 1
⇒ 15 = 15

37. (b) Required result
= (5y – 13x – 8a) – (11x – 16y + 7a)
= 5y – 13x – 8a – 11x + 16y – 7a
= 5y – 13x – 8a – 11x + 16y – 7a
= 21y – 24x – 15a
38. (a) In the context of mathematics, 

children coming to the school from 
rural areas have rich oral mathematical 
traditions and knowledge.

39. (c) 40. (d)
41. (c) All the statements (A), (B) and 

(C) are true regarding the mathematics.
42. (b) 43. (a) 44. (d)
45. (b) The rule of proportional 

reasoning in understanding the concept 
related to ratio and proportion was 
highlighted by team project.

46. (d) A student is not able to solve 
those word problems which involve 
transposition in algebra. The best 
remedial strategy is to give lot of practice 
question on transposition of numbers.

47. (a)
48. (b) Given expression
= [(– 4) + 2] × (– 3) – (– 3) [(– 3) 

× (– 7) – 8] + (4) [– (48) ÷ 6]
= (– 2) × (– 3) – (– 3) [21 – 8] 

+ 4 × (– 8)
= 6 – (– 3) × 13 – 32
= 6 + 3 × 13 – 32
= (6 + 39 – 32) = 13

49. (b) 
44 33

0.89, 0.86
49 38

= =

22 24
0.88, 0.82

25 29
= =

\ 0.89 > 0.88 > 0.86 > 0.82
44 22 33 24

49 25 38 29
∴ > > >

50. (a) Division is not commutative, 
So, option (a) is not true

51. (d) x = 23 × 33 × 53 × 73

y = 22 × 33 × 54 × 73

z = 24 × 34 × 52 × 75

HCF = 22 × 33 × 52 × 73

= (2 × 3 × 5)2 × 73

= 302 × 73

52. (b) 52272 = p2 × q3 × r3 ...(i)
2 52272

2 26136

2 13068

2 6534

3 3267

3 1089

3 363

11 121

11 11

1

\ 24 × 33 × 112 = p2 × q3 × r4

⇒ 112 × 33 × 24 = p2 × q3 × r4

\ p = 11,  q = 3 and  r = 2
\ (2p + q – r) = (2 × 11 + 3 – 2)
= (22 + 3 – 2)
= (25 – 2)
= 23
53. (b) If a number is divisible by 72, it 

must be divisible by both 8 and 9.
(A number is divisible by 9, if the sum 

of its digits is divisible by 9)
(A number is divisible by 8, if the last 

three digits of number is divisible by 8)
So, for divisibility of 8, y = 4,
Then number = 134x 584 and the last 

three digits of number 584 is divisible 
by 8.

For divisibility of 9.
(1 + 3 + 4 + x + 5 + 8 + 4)
= (25 + x)
Nearest divisible number of 25 is 27
\ (25 + x) = 27
⇒ x = (27 – 25) = 2
\ Value of (2x + y) = (2 × 2 + 4)
= (4 + 4) = 8
54. (b) A Pythagorean triple consists 

of the three positive integers a, b and c.
Such that a2 + b2 = c2

So, (11)2 + (60)2 = (121 + 3600) 
=  3721
= (61)2 ≠ (63)2

So, 11,60 and 63 is not a Pythagorean 
triplet.

55. (b) Let the angle be x°
Then, its supplement = (180° – x)
Complement angle = (90 – x) 
According to questions,
(180 – x) = 4 (90 – x)



15Solved Paper, July 2019

⇒ 180 – x = 360 – 4x
⇒ 3x = 180°

⇒ 
180

60
3

= = °x

56. (d) We know that, sum of the three 
angle of a triangle is 180°

According to question,
x + (3x + 20) + 6x = 180°
⇒ 4x + 20 + 6x = 180°
⇒ 10x = 160°

⇒ 160
16

10
x = = °

\ Angle are 16°, 68° and 96°
So, triangle must be obtuse angled 

triangle.
57. (d) In the DABC and DDEF

A

B C

D

E F

AC = DF
∠C = ∠F
BC = EF
\ DABC ∼ DDEF

Therefore AB AC
= =1

DE DF
\ AB = DE
⇒ (2x – 1) = (5x – 4)
⇒ 5x – 2x = –1 + 4
⇒ 3x = 3
\ x = 1
58. (b) For the formation of triangle, 

least value of third side is 6 and maximum 
value is 14.

So, the least value of P 
= (5 + 10 + 6) = 21
Maximum value of P
= (5 + 10 + 14) = 29
59. (b) First, we arrange data in 

ascending order:
8, 9, 13, 13, 14, 14, 14, 14, 15, 15, 15, 

16, 16, 17, 17
Here n = 15 (add number)

\ Median = 
1

th term
2

+ 
  

n

= 
15 1

th term
2

+ 
  

= 8th term

\ x = 14
if 8 is replaced by 18, then median = 15
\ y = 15
\ (x + y) = (14 + 15) = 29
60. (c) Total number of balls
= (3 + 2 + 5) = 10
\ Required probability 

=  1 13 2 3 2 5 1

10 10 10 2

+ +
= = =

c c

61. (d) Milk contains a variety of 
important nutrients including protein, 
calcium, potassium, phosphorus, vitamin 
D and iodine, as well as the vitamins B2 
and B12.

62. (a) Iodine used in the purple 
colured solution applied on wounds as 
antiseptic.

63. (a) 64. (a) 65. (a) 66. (d)
67. (d) Chlorofluorocarbons (CFCs) 

and other halogenated ozone depleting 
substances (ODS) are mainly responsible 
for man-made chemical ozone depletion.

68. (b) Communicable diseases are 
illnesses caused by viruses or bacteria 
that people spread to one another through 
contact with contaminated surfaces, 
bodily fluids, blood products, insect bites 
or through the air. Typhoid, Swineflu, 
Malaria, Polio, HIV, Salmonell etc. are 
communicable disease.

69. (d)  70. (b)
71. (d) The role of science teacher 

should be to provide rich variety of 
learning experiences to learners.

72. (d) As per NCF-2005, good science 
education should be ‘true to the learner’, 
true to the environment of the learner and 
true to science.

73. (b) 74. (b) 75. (b) 76. (d) 77. (a)
78. (b) Assessment as learning in 

science means self assessment.
79. (a) According to question. Amrita 

is trying to set-up and electric circuit. 
She runs short of connecting wires, So 
she use steel wire to complete the circuit.

80. (a) A concave mirror forms an erect 
as well as inverted image.

81. (a) Formic acid (HCHO) is found 
in the stings and bites of many insects, 
including bees and ants, which use it as 
a chemical defence mechanism.

82. (d) Calorific value of fuel

Heat generated

Mass fuel used
=

81.665 10

3.7 1000

×
=

×
51.665 10

45000
3.7

×
= =

83. (a) Arrange speed
Total Distance Covered

=
Total time taken

5 5
km/hr5 5

12 8

+ 
 =

+  

10
km/hr

(10 15)

24

= +

10 24
km/hr = 9.2 km/hr

25

× =   

84. (b) Cubit, metre and light year only 
the unit of measuring distance.

85. (b)
86. (c) Object is moving linearly with 

a uniform velocity, then acceleration is 0.

BA

V(Velocity)

t(time)

So, it is clear, the velocity-time graph 
of the motion will be a straight line 
parallel to x-axis.

87. (a) From the given options cock is 
not a by product of petroleum.

88. (d) 89. (d) 90. (a)
91. (b) According to passage the 

statement,‘‘He/She does not enjoys a 
picnic in the train’’  is not true.

92. (b) The word ‘coupon’ given in the 
passage means ‘a railway ticket’.

93. (a) The phrase, ‘draws out’ as used 
in the passage means, ‘moves out’.

94. (d) The word ‘past’ in the sentence, 
‘‘People are pushing past you.’’ is a 
preposition that means, ‘in front of’ or 
‘beyond’.
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95. (a)  96. (d) 97.  (b) 98. (c) 
99. (a)
100. (d) The neighbours meet in the 

spring season to fill the gaps in the wall.
101. (c) The neighbours have to use 

a spell to fix the irregular stones in the 
wall.

102. (c) The figure of speech used in 
the lines 9-10 is Irony.

103. (a) Metaphore
104. (b) The hunters' main aim is to 

catch the rabbits.
105. (b) The gaps in the wall are made 

by hunters.
106. (b) An endangered language is 

a language that is at risk of no longer 
being used, as its speakers shift to 
another language or die out. It is a serious 
concern.

107. (a) word collocations are words 
that go together naturally in English, e.g. 
deep feeling, heavy rain, strong smell.

108. (a) skimming reading is a 
technique that use rapid eye movement 
and keywords to move quickly through 
text for shightly different purposes.

109. (b) The sight words are developed 
by Dr. Edward Fry with the help of words 
in meaningful context in the 1950s which 
were updated in 1980.

110. (d) Language is a medium of 
expression of views of one person to 
others as members of a social groups 
by speaking, writing, signs which is 
governed by a system of rule.

111. (a) 
112. (c) Extensive reading is a reading 

methodology for pleasure and overall 
understanding of the text.

113. (d) 114. (c) 115. (a) 116. (b)
117. (c) Bottom-up approach to 

listening is applied when a listener 
understand language sound by sound 
or word by word, with less use of 
background knowledge.

118. (a) The teacher is creating (print) 
language rich environment in the 
classroom.

119. (d) 
120. (c) LAC stands for Language 

Across the Curriculum.

121. (c) vkWuykbu f'k{kk daI;wVj vk/kfjr 
vuqdwyh ijh{k.k iznku djrh gS vkSj oSdfYid 
f'k{kk vkSj fopkjksa dks c<+kok nsrh gSA vkWuykbu 
vkSj [kqys lwpuk iksVZy fdlh Hkh le; dgha ls 
Hkh lqyHk gSA vkWuykbu f'k{kk vkWuykbu lek/ku 
ds ekè;e ls de ykxr ij lsok,a iznku djrk 
gSA vkWuykbu f'k{k.k yphyk vkSj lqfo/ktud 
gSA dksbZ Hkh dgha Hkh i<+ ldrk gS] tgk¡ vki 
baVjusV dk mi;ksx dj ldrs gSaA

122. (d) Hkkjr esa dsoy 12 izfr'kr Nk=kksa dks 
fo'ofo|ky; esa izos'k feyrk gS] ftlds dkj.k 
vf/dka'k Nk=k&Nk=kk,a fdlh&u&fdlh dkj.ko'k 
fo'ofo|ky; f'k{kk ls oafpr jg tkrs gSaA

123. (d) 
124. (b) tks 'kCn nwljh Hkk"kkvksa ls fganh esa 

vk, gSa] mu 'kCnksa dks vkxr 'kCn ;k fojks/h 'kCn 
dgk tkrk gSA ^vkWuykbu* vaxzsth dk 'kCn gSA

^rRle* nks 'kCnksa ls feydj cuk gSµrr $ 
le] ftldk vFkZ gksrk gS T;ksa&dk&R;ksaA ftu 'kCnksa 
dks laLÑr Hkk"kk ls fcuk fdlh ifjorZu ds ys 
fy;k tkrk gS] mUgsa rRle 'kCn dgrs gSaA ^f'k{kk* 
laLÑr dk 'kCn gSA

125. (c) milxZ 'kCn dk vFkZ gksrk gSµlehi 
vkdj u;k 'kCn cukukA vFkkZr~ ;g fdlh 'kCn 
ds lkFk yxdj u;k 'kCn cukrk gSA Hkk"kk ds og 
lkFkZd ,oa NksVs [kaM tks fdlh 'kCn ds vkjaHk 
esa yx tkrs gSa ,oa mlls feydj fdlh nwljs 
'kCn dk fuekZ.k dj nsrs gSaA tSlsµfuj~ $ cy ¾ 
fucZy] lq $ iFk ¾ lqiFkA izR;; dh ifjHkk"kkµ,sls 
'kCn] ftudk Lora=k vfLrRo ugha gksrk] ysfdu os 
nwljs 'kCn ds ckn yxdj mudk vFkZ cny nsrs 
gSa] os izR;; dgykrs gSaA tSlsµHkqy $ vDdM+ 
¾ HkqyDdM+A

126. (c) vkWuykbu f'k{kk iz.kkyh ds ekè;e 
ls ?kj cSBs f'k{kk izkIr djuk ,d vR;ar gh 
lgt&lqyHk rjhds ls izkIr fd;k tk ldrk gSA 
;g vkWuykbu flLVe ds ekè;e ls ̂ [kqn dks lh[ks* 
vkSj lkeqnkf;d f'k{kk dks izksRlkfgr djrk gSA

127. (a) pwafd vkWuykbu f'k{kk yphyh vkSj 
lqfo/ktud gS vkSj ;g izR;sd Hkk"kk esa baVjusV 
ij miyC/ gSA ;g fganh Hkk"kk esa Hkh miyC/ gSA

128. (b)  129. (d)  130. (a)  131. (c) 
132. (b) ̂ vkd"kZ.k dk fu;e* fliQZ ;g ns[krk 

gS fd vki fdl pht ds ckjs esa lksp jgs gSaA fliQZ 
blfy, fd vki fdl pht ds ckjs esa lksp jgs 
gSa] vkd"kZ.k dk fu;e oks vkidks nsus yxrk gSA

vxj vki vPNk eglwl dj jgs gSSa rks vkids 
fopkj Hkh vPNs gks tk,¡xs vkSj vkids lkFk vPNh 

phtsa gksxhA ysfdu vxj vki cqjk eglwl djsaxs 
rks vkids fopkj Hkh cqjs gks tk,¡xs] vkSj vkids 
lkFk cqjk gksxkA

133. (c) tks 'kCn laKk ;k loZuke 'kCn dh 
fo'ks"krk crkrs gSa] mUgsa fo'ks"k.k dgrs gSaA mi;qZDr 
iz'u esa ^vkdf"kZr* dksbZ fo'ks"k.k ugha gSA

134. (d)  135. (c)  136. (c)  137. (b)
138. (c) 
139. (a) vkxeu fof/ ml fof/ dks dgrs 

gSa] ftlesa fo'ks"k rF;ksa rFkk ?kVukvksa ds fujh{k.k 
rFkk fo'ks"k.k }kjk lkekU; fu;eksa vFkok fl¼karksa 
dk fuekZ.k fd;k tkrk gSA

140. (b) voyksdu esa dkuksa rFkk ok.kh dh 
vis{kk us=kksa ds iz;ksx dh Lora=krk ij cy fn;k 
tkrk gSA vFkkZr~ ;g fdlh ?kVuk dks mlds 
okLrfod :i esa ns[kus ij cy nsrk gSA

141. (d) 
142. (b) blls cPpksa esa fparu {kerk dk 

fodkl gksrk gS vkSj os ikB dks Hkh vPNh rjg 
ls le> ikrs gSaA

143. (d) cgqHkkf"kd lekt esa fdlh Hkk"kk dk 
laizs"k.k ?kuRo loZ=k ,d tSlk ugha gskrk gS cfYd 
og ,d Hkk"kk {ks=k ls nwljs Hkk"kk {ks=k ds laidZ 
esa vkus ds f{kfrtksa ij dkiQh cnyrk gSA vr% 
vko';d gS fd cPpksa dh ekr`Hkk"kk dks d{kk esa 
LFkku fn;k tk,A

144. (b) mPp izkFkfed Lrj ij Hkk"kk&f'k{k.k 
dk ,d egRoiw.kZ mís'; f'k{kkFkhZ dks vius Hkkf"kd 
O;ogkj ds izfr vf/d&ls&vf/d ltx djuk gSA

145. (c) 
146. (c) cgqHkkf"kdrk gekjs ns'k dh ,d 

lkaLÑfrd fo'ks"krk gS] tks fdlh&u&fdlh :i 
esa gj d{kk esa ns[kh tk ldrh gSA fofHkUu 'kksèkksa 
ds ekè;e ls og ckr iwjs fo'o esa fl¼ gks 
pqdh gS fd d{kk esa ekStwn Hkk"kk dh fofo/rk 
tksM+us] le>us vkSj O;Dr djus ds rjhdksa dk 
foLrkj djrh gSA

147. (c) 
148. (b) Hkk"kk f'k{k.k dk mís'; Hkk"kk dh 

le> vkSj vfHkO;fDr dk fodkl djuk gSA

149. (a) mPp izkFkfed Lrj ij fganh Hkk"kk 
lh[kus ds fy, fofHkUu fo"k;ksa] fLFkfr;ksa] ?kVukvksa 
vkSj ekSf[kd@fyf[kr@lkadsfrd :i ls dgus&lquus@
iz'u iwNus] fVIi.kh djus] viuh jk; nsus dh 
miyC/rk gksuh pkfg,A

150. (b)
qqq 




